20229 6&12 &

Kk

<J

ol
30

m

502t

A

10
IKJ

t

9:1-13:14/

U0
(0

A AL,

oA KEDI2] 442

-
o

o
30
ol

3

70
7

=32:32)

2T B

1L.Z20tA 9Z0lA, 2 A BB 2 AFE E

H
ol

0l

F22(

~

ol

<0
9)

~

Ie)

-

oll
ol

oF

Al

il

3.01Act

&
oF
oll
]

=
[==)

OfF Al LH 2%

BH M
(=)

ot=

!

S =

to A

| OtLIS

ALK T
==K

Off Al

ohel o
HLER?(

A

12 0l

[
[=]

L
= oftM"Ct

10

4

1o

B!

=M DEXI 21 DR ?(

=
[

=" AlJI

HAl &

o)
ol
o1

b

b

5"0lActd e Hels

oI
13
H

S
ok

e}

AL

IS H &=t ol OF

FHLESTHA 28 A0 LHA =8 22 22 HE XIS

o

=c
=2 -

O
[y

7. 20

OtLER?(

= 0| HO¢f

HIAl XX 20| R = Rz &

8. <

off 2t

10.AFE H}

A0tLES = LI 2t (E4:25)

W EHEA IIEZ 20t AICH






